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OJIgH UESRD 23t 5,000
& 2,500
Al 2,500
HdEley ad3ohe 10,000 20,000 10,000
= 5,000
Al 5,000
307 el2to| & 10,000 20,000 10,000
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Al 5,000
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== 5,000
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- ole 25 A2 (Er2 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| ozauy =20gns 2o 3,000
ARISXIAL S APt XI&A 35,100 126,000 80,900
307 2I2t01 & 35,100 126,000 80,900
11 AMEISXAIEES 35,100 126,000 290,900
OMSIZTIAIS SATHIEE ATT) =X
Jte XI& 35,100
g - Ot e g2 =4 2,700 2,700 0
203 =] 2,700 2,700
03 A=A 2= 2,700 2,700
0014 - 0ISEE - S Mol 20F M 2,700
- 4= oY 1,879,551 1,818,236 61,315
= 180,000
Jl 777,614
= 340,192
Al 581,745
OHY - 422 ol 238 1,500 1,500
301 EetE2 NS 1,500 1,500
11 #AIAHIXIE S 1,500 1,500
©J}E - 4= o 938 1,500
IEEH 484 2EXE 419,224 420,583 1,359
7l 172,790
= 96,968
Al 149,466
307 @120l & 419,224 420,583 1,359
Il 172,790
= 96,968
Al 149,466
10 Al SAAEEHE 22X 419,224 420,583 1,359
OJtd=g o84 2EXNd 419,224
) 172,790
= 96,968
Al 149,466
OHEER WK XI2E= Z208 o o2yl A 50,307 50,307 0
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= 7,547
Al 7,546
307 elzto| & 50,307 50,307 0
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< 7,547
Al 7,546
01 22X &I 9,419 9,419 0
O2|=H| 9,419
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11 AMEISXAIEEES 40,888 40,888 0
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) 28,621
< 6,134
Al 6,133
JHEZE Lokt ESAE 2 K& 267,472 265,749 1,723
Il 175,560
< 34,125
Al 57,787
307 glztol & 267,472 265,749 1,723
J| 175,560
== 34,125
Al 57,787
10 Al2ISTIAIEEE 22X 248,972 249,749 NTTT
OJIEZEY LA ESAIE 2| 245,454
Jl 154,598
=S 33,597
Al 57,259
OJIE=4 TlohAt ESAlE Mg E| 3,518
Il 2,462
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Al 528
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Bl 11,000
Il 11,000
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Jl 7,500
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Ols {4 otMXIS Sl 89 1,800 1,800 0
= 540
Al 1,260
201 L2 AH| 1,800 1,800 0
& 540
Al 1,260
01 At=R2teld| 1,800 1,800 0
O0ts 04 erEXISE Sl 29 1,800
& 540
Al 1,260
HA=XAIE SALL =2 93,600 89,640 3,960
= 28,080
Al 65,520
307 212+01 A 93,600 89,640 3,960
= 28,080
Al 65,520
10 Al S XA EEHER2IHIE X 93,600 89,640 3,960
OHAESXIAIE SALL =5 93,600
& 28,080
Al 65,520
= HoHA XJAAE BE SO K& 22,000 0 22,000
& 6,600
Al 15,400
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== 6.600
Al 15,400
HASH (O ESIIAIE) 200,000 195,000 5,000
= 180,000
== 14,000
Al 6,000
307 212+01& 200,000 195,000 5,000
= 180,000
= 14,000
Al 6,000
11 AMISXAIEEX 200,000 195,000 5,000
OHASH(HLE=SXIAIE) 200,000
= 180,000
= 14,000
Al 6,000
SOHOH A 1,509,195 1,515,249 N6,054
Il 828,388
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Al 400,220
SOHOHE X W= 5,000 5,000
301 EtE NS 5,000 5,000
14 0Bt 243 5,000 5,000
OH O X Ol = 5,000
SOHOHIIGH A+ XIEAIE & &g 29 1,116,449 1,112,574 3,875
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= 190,390
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Al 14,922
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Al 31,493
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201 et 3| 20,000 20,000 0
01 AtR2t2|H] 20,000 20,000 0
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Oelole JISdAL 12,000 12,000 0
201 2egh=3| 12,000 12,000
03 A= &I 12,000 12,000
O0elolg JISHAL 12,000
OtsglateAl X3 67,000 70,000 A3,000
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OdH =NEd 282 =35 78 1,500
206 M=H| 10,000 10,000
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O=HMgd &8 2= M 7,000
O=Mgd AlME =5, 2=% 3,000
HEZE ==018 21 28 400,000 0 400,000
401 AlZHIZ SO 400,000 0 400,000
01 Al&H| 400,000 400,000
ONEE 201 &1 29¢ 400,000
1S Oelolsd 2184 M= 200,000 0 200,000
401 Al HIZ S 0HbI 200,000 0 200,000
01 AlZ8| 200,000 200,000
O0elolsd W == ot&834 EH & U= 200,000
CE5EE YH=018 72t 20,000 20,000 0
401 A2 HIRL 201 20,000 20,000 0
01 Al&HI 20,000 20,000
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01 AlZ8| 200,000 200,000
ONHEd e =018 &4 200,000
s 23 N 11,431,976 10,417,480 1,014,4%
= 6,184,685
Jl 519,094
=S 1,513,295
Al 3,214,902
= I3 X 11,431,976 10,417,480 1,014,4%
= 6,184,685
) 519,094
< 1,513,295
Al 3,214,902
FAERR AEX2 67,800 67,800 0
Il 33,900
== 16,950
Al 16,950
307 212+01& 67,800 67,800 0
7l 33,900
= 16,950
Al 16,950
11 AMISXAIEEX 67,800 67,800 0
OlIEERA HEIIZ 28 67,800
Jl 33,900
= 16,950
Al 16,950
FAERE A= N2 31,200 0 31,200
= 15,600
= 6,240
Al 9,360
301 EtE NS 31,200 0 31,200
= 15,600
= 6,240
Al 9,360
01 Al EEABZ2(2DEEMR) 31,200 0 31,200
OFAHER Ots2=FH| A& 31,200
= 15,600
< 6,240
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Jl 2,400
= 300
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11 AMEISXAIEEES 3,000 3,000 0
OSIR2ItE MHUL=Hl S X (BHR20t
Z=XAEL AR 3,000
) 2,400
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SRS SXAIE 23| 1,146,081 1,146,081 0
= 171,912
Al 974,169
307 @120l & 1,146,081 1,146,081 0
== 171,912
Al 974,169
10 AlRIS XA EEE 22X 1,146,081 1,146,081 0
OBIRI2IIE SXAE 24| 1,146,081
< 171,912
Al 974,169
SIRIIIE SXAE SAHL =& 25,920 25,920 0
= 7,776
Al 18,144
307 el2to| & 25,920 25,920 0
= 7,776
Al 18,144
10 Al SXAIZEE 22X 25,920 25,920 0
OStRL2ItE SXAE SAHR =& 25,920
== 7,776
Al 18,144
SRS SIAIE gkt IHEEE= 30,000 30,000 0
= 4,500
Al 25,500
301 EtE N = 30,000 30,000 0
= 4,500
Al 25,500
02 A2 H -GS (FHAAHS, NSWE) 30,000 0 30,000
ORZ2IIE =XAE g4 NHEEES 30,000
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OR2IIE SXAE AU &4l 3,400
< 1,020
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SRS SXAIE JrEdE & 11,400 11,400 0
= 3,420
Al 7,980

307 el2to| & 11,400 11,400 0
= 3,420
Al 7,980

11 AMEISXAIEEXS 11,400 11,400 0
OFRZIIE SAAE JtsdE X 11,400
s 3,420
Al 7,980

SRR SXAE JIs2d N& 88,000 88,000 0
Jl 44,000
=S 22,000
Al 22,000

402 2I2FXH=201H 88,000 88,000 0
Jl 44,000
= 22,000
Al 22,000

02 QI XHE AL E R (01X THE) 88,000 88,000 0
OStRL2IIESAAE JIsETAME 88,000
Il 44,000
= 22,000
Al 22,000

SRS SXAE gk o - Xg X 25,200 25,200 0
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OAIE OOISEAHIA XIS (AAINE XM
E) 8,734
Jl 6,114
[ 1,048
Al 1,572
OlOI=Z 20| A& 3 &H| X2 11,400 11,400 0
= 3,420
Al 7,980
307 el2to| & 11,400 11,400 0
= 3,420
Al 7,980
1 AMISXAIEEXE 11,400 11,400 0
OO0I0I==20] AZH&H| K& 11,400
== 3,420
Al 7,980
OLOIESE0l 2+=1u=Hl XI& 55,461 0 55,461
= 16,638
Al 38,823
307 elzto| & 55,461 0 55,461
= 16,638
Al 38,823
11 AMEISXAIEEXS 55,461 0 55,461




2A:
PSR
ool

VBl
o= Z X8
o= Z3 X9

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OO0H0I=SLE0l sl XA 55,461
= 16,638
Al 38,823

SOt ety E3+8 N 45,000 0 45,000
=S 13,500
Al 31,500

307 21201 & 45,000 0 45,000
< 13,500
Al 31,500

11 AMEISXAEEES 45,000 0 45,000
ogodg oty ==+ AN 45,000
& 13,500
Al 31,500

A20HE & O23ts XYEH 23 (A20Hd) 379,140 371,860 7,280
) 162,370
& 45,711
Al 181,059

307 glztol & 379,140 371,860 7,280
Jl 152,370
< 45,711
Al 181,059

11 AMEISXAEEES 379,140 371,860 7,280
OALIIEXNRHEH 2 379,140
Jl 162,370
=S 45,711
Al 181,059

AZIEXNHEE SA SX+g 20,520 20,520 0
& 6,156
Al 14,364

307 lztol & 20,520 20,520 0
= 6,156
Al 14,364

ARISNAEEE2SHIE X 20,520 20,520 0
OALINEXJEH SALA S XY 20,520
= 6,156
Al 14,364

FFRAVIIIEXA 173,750 174,460 AT10
= 86,875
= 43,437
Al 43,438

307 @20l & 173,750 174,460 AT10
= 86,875
= 43,437




L OlIIED
DOl B Qe
D OlE mE X9

SA - BB - SRI(SIH) - KISAKY - A HIm=S2t

Al 43,438

11 AL =SXAMEES 173,750 174,460 AT10
OF I tF XA 173,750
= 86,875
& 43,437
Al 43,433

=38 3sHd A& 75,000 75,000 0
| 37,500
& 15,000
Al 22,500

307 212+01™ 75,000 75,000 0
J| 37,500
= 15,000
Al 22,500

11 AR SXAMEEER 75,000 75,000 0
o=z 3sH K& 75,000
| 37,500
= 15,000
Al 22,500

1010172 = oA ZEXIZ0] 19,000 0 19,000
& 5,700
Al 13,300

301 LPENZ 19,000 0 19,000
& 5,700
Al 13,300

02 MBI B EE 262 (H 19,000 0 19,000
O1210t7 =01 otd & 19,000
T 5,700
Al 13,300

=25S0tLU=sH 29 232,6%6 286,150 A53,454
| 110,388
T 47,731
Al 74,577

307 2Iz2+0l™ 232,6%6 286,150 A53,454
| 110,388
& 47,731
Al 74,577

11 Al =SXAMEES 232,6%6 286,150 A53,454
O3=S0lLsH 29 232,6%
| 110,388
& 47,731
Al 74,577

SSR0tUsH 2I2E X 50,000 50,000 0




2A:

Ol&ot=0t

B Jbm F K|
celr O 38 NE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 15,000
Al 35,000
402 QIF X201 & 50,000 50,000 0
= 15,000
Al 35,000
02 QI A2 AL E R (0IHTHE) 50,000 50,000 0
O&Zs=0tL=H cl22E K& 50,000
= 15,000
Al 35,000
228t 8 &d 2R2Us N2 25,000 25,000 0
< 7,500
Al 17,500
307 212+01& 25,000 25,000 0
S 7,500
Al 17,500
11 AMEISXAEEES 25,000 25,000 0
Oust I =4 220 X 25,000
= 7,500
Al 17,500
Al R2800 2 65,000 65,000 0
201 fer= 3| 15,000 15,000
01 At 2|l 15,000 15,000
O==2stu 82 & 2E 12,000
ORZuUSAEFEe ¥ A2t 23 3,000
301 EtE NS 50,000 50,000
14 IIEt2 83 50,000 50,000
OR=Zstn ZA= 50,000
d=es e el B MHIA K& 2,000 2,000
201 er2 3| 2,000 2,000
02 S3=gHl 2,000 2,000
Od=es e 18l 28 AU~ K& 2,000
CtEtAtel K13 2,581,339 2,398,336 183,003
Jl 911,550
< 454,737
Al 1,215,062
Ct23tAtal XIE 2,581,339 2,398,336 183,003
Jl 911,550
=S 454,737
Al 1,215,052
CHEsEXNZdH 2SR 392,140 363,340 28,800
Jl 169,570
= 50,871




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 171,699
307 gl2tol & 392,140 363,340 28,800
Il 169,570
= 50,871
Al 171,699
11 AMEISXAIEEXS 392,140 363,340 28,800
OUtEaIEN2dH 283 392,140
) 169,570
& 50,871
Al 171,699
CHE3tEXI2dE SARIE X2 32,19 32,19 0
= 12,880
Al 19,319
307 gl2tol & 32,199 32,19 0
=S 12,880
Al 19,319
10 Al SXAEEE 22X 32,199 32,19 0
OU2IEXJHE SAeE X 32,199
[ 12,880
Al 19,319
CHE3EXIZEE SAHAL = 127,720 127,720 0
= 18,876
Al 108,844
307 el2to| & 127,720 127,720 0
= 18,876
Al 108,844
10 AlRISXAZEE 22X 127,720 127,720 0
OUZSINEXNEHE SAA =& 106,920
== 12,636
Al 94,284
OUI=3IENAMH HEE 20,800
= 6,240
Al 14,560
AMHgE & MHEE S gE2usAHlA X2 333,455 328,304 5,151
) 156,527
& 46,958
Al 129,970
307 elztol & 333,455 328,304 5,151
Jl 156,527
< 46,958
Al 129,970
11 AMEISXAEEES 333,455 328,304 5,151




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o= & NHYE S Y2 usSAHlIL
L= 333,455
Jl 156,527
[ 46,958
Al 129,970
CH23HE Atdi2tel X 74,036 71,700 2,336
Jl 37,018
& 11,105
Al 25,913
307 glztol & 74,036 71,700 2,336
Il 37,018
s 11,105
Al 25,913
11 AR SXAIEE X 74,036 71,700 2,336
OU=23E Atddl2tel X3 74,036
Jl 37,018
= 11,105
Al 25,913
CHESHE & - HAAMHIA X2 98,439 95,364 3,075
7l 49,219
= 14,766
Al 34,454
307 @120l & 98,439 95,364 3,075
Il 49,219
= 14,766
Al 34,454
11 AMEISXAIEEXS 98,439 95,364 3,075
OZE0I2UA S - HIANHIA NH 98,439
Jl 49,219
= 14,766
Al 34,454
CrEshts AHA0EgE " X2 118,032 115,500 2,532
) 59,016
S 17,705
Al 41,311
307 elztol & 118,032 115,500 2,532
Jl 59,016
< 17,705
Al 41,311
11 AMEISXAEEES 118,032 115,500 2,532
Oot=2=E HHoge X 118,032
Jl 59,016
s 17,705




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 41,311
0150l JtEEE &4 138,108 67,886 70,222
Jl 69,054
= 20,716
Al 48,338
307 gl2to| & 138,108 67,886 70,222
Jl 69,054
= 20,716
Al 48,338
11 AMEISXAIEEES 138,108 67,886 70,222
O0ls20l It=etd =4 138,108
) 69,054
< 20,716
Al 48,338
201N SHeNA 24,500 24,500 0
Il 12,250
< 3,675
Al 8,575
307 glztol & 24,500 24,500 0
Il 12,250
== 3,675
Al 8,575
11 AMRISXAEEES 24,500 24,500 0
OZ =02t A2 24,500
Il 12,250
=S 3,675
Al 8,575
ChEabts DEiL=0l 98,000 49,000 49,000
< 29,400
Al 68,600
307 lztol & 98,000 49,000 49,000
= 29,400
Al 68,600
1 AMEISXAIEEES 98,000 49,000 49,000
OU=atE NS0l At 98,000
= 29,400
Al 68,600
=¥ =" 29 147,225 147,225 0
== 51,529
Al 95,696
307 212+01& 147,225 147,225 0
< 51,529
Al 95,696




SN 0EIIED
& C2stAtel XI&
tel: CEstAtel A1 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
11 AR SXAMEEER 147,225 147,225 0
O==2¥ 02y 23 147,225
& 51,529
Al 95,69
Z20|8IA HYsdus 18,750 18,750 0
T 7,500
Al 11,250
307 2I2+01™ 18,750 18,750 0
= 7,500
Al 11,250
11 Al SXAMEE X 18,750 18,750 0
OZ=012X HHEHW= 18,750
T 7,500
Al 11,250
ZE012X% sEHSE XJ 56,000 56,000 0
& 22,400
Al 33,600
307 2I2+01™ 56,000 56,000 0
T 22,400
Al 33,600
11 AMSISXIAEEX 56,000 56,000 0
OZ=0I12Xt stEFSE XA 56,000
= 22,400
Al 33,600
ZE0|2IXt CHE! stHl KNI 22,000 22,000 0
& 8,800
Al 13,200
307 212+01™ 22,000 0 22,000
T 8,800
Al 13,200
11 Al =SXAMEES 22,000 0 22,000
OZ=0|21X}+ CHE &Hdl XA 22,000
& 8,800
Al 13,200
ZE20|12IK 28FHE W= K2 20,000 20,000
307 2I2+01A 20,000 20,000
02 QIZHAAAIEER 20,000 20,000
OZ=012X =&F=E s A& 20,000
CE2stEsd d2 K& 10,000 10,000 0
& 4,000
Al 6,000
307 212+01™ 10,000 10,000 0
& 4,000




SN 0EIIED
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,000
11 AMEISXAEEXS 10,000 10,000 0
oti=2std4d &z K& 10,000
s 4,000
Al 6,000
ool HE 20 U=3otE0 2N 13,000 13,000 0
201 el 10,000 10,000
03 A= &I 10,000 10,000
Ott2stA S8t (121 5,000
Os=NS23sHHE (23] X1) 5,000
301 EtE2 NS 3,000 3,000
11 #AIAMHIXI 2 S 3,000 3,000
O=stel 8= 20 CEat=a M 3,000
CtEat 0152 SelAdH =2& 137,026 137,026 0
[ 29,108
Al 107,918
307 glztol & 137,026 137,026 0
= 29,108
Al 107,918
11 AMEISXAEEE 137,026 137,026 0
Ott=2zt 02 EciAdH 2 97,026
= 29,108
Al 67,918
Ogc=e22Xt & 29 40,000
=0 SHEMEA 2 15,000 15,000 0
< 4,500
Al 10,500
307 elztol & 15,000 15,000 0
= 4,500
Al 10,500
11 AMEISXAEEXS 15,000 15,000 0
el=el Fy3agL 29 15,000
= 4,500
Al 10,500
=00 NHEE HESE XNE 10,000 0 10,000
== 10,000
307 elztol & 10,000 0 10,000
= 10,000
11 AMEISXAEEES 10,000 0 10,000
O2l=olx0l XHEY% XEE A2 10,000
= 10,000
Z31ol OlF0d EsAlE 28XE 283,239 249,112 34,127




SM: HAIIED
Hm: (235 X
tel: CEstAtel A1 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
5] 179,737
T 29,109
Al 74,393
307 212+01™ 283,239 249,112 34,127
| 179,737
& 29,109
Al 74,393
11 AL =SXAMEES 283,239 249,112 34,127
OZAMH 01504 BEAILE SHXI 283,239
| 179,737
& 29,109
Al 74,393
=15} 01018 EBAE SAIX 42 12,280 12,280 0
T 3,684
Al 8,5%
307 2I2+01™ 12,280 12,280 0
T 3,684
Al 8,5%
10 IS SXAIEHE2ZHIEX 12,280 12,280 0
OZHIITH 0IF0S 2SAIE SAK 45 12,280
= 3,684
Al 8,5%
=00l 0IF0A ESAIE EAX IEXR 10,000 10,000 0
J| 10,000
307 QIZ2t01 A 10,000 10,000 0
| 10,000
11 AL =SXAMEES 10,000 10,000 0
OZATH 01504 2BAIE EAT X
X2 10,000
| 10,000
ZATG) 01014 ESAI4 EE 6,222 6,222 0
| 4,355
& 622
Al 1,245
402 RIZHRF=0/ & 6,022 6,022 0
J| 4,355
= 622
Al 1,245
2 I ZAIL 2 E (OIF N R) 6,222 6,222 0
OZATH 01504 BEAIE DY 6,222
| 4,355
T 622
Al 1,245




A HEIED
H: CI25HME X2
tel: CEstAtel A1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZH1lol 0IF0E ESAE JIsEd 5,000 5,000 0
= 1,500
Al 3,500
402 212+ X+=01 & 5,000 5,000 0
= 1,500
Al 3,500
02 QI XHE AL E R (01X THE) 5,000 5,000 0
OZFHUloh 01F0d ESAE JIsEH 5,000
s 1,500
Al 3,500
=0l 0IF0d d4Eax 28X 329,608 315,848 13,760
Jl 164,804
=S 49,441
Al 115,363
307 21201 & 329,608 315,848 13,760
Jl 164,804
= 49,441
Al 115,363
11 AMEISXAIEEXS 329,608 315,848 13,760
O=g1lcl 01F0d o544 822 329,608
Il 164,804
= 49,441
Al 115,363
S0l 0lF0d dEa SAL = 49,360 49,360 0
=S 5,592
Al 43,768
307 @I2t01 & 49,360 49,360 0
< 5,592
Al 43,768
10 Al2IS XA EEE 22X 49,360 49,360 0
O=ZUlol 0lF0ld 54 SAL =& 49,360
= 5,592
Al 43,768
HH2LIHI(HLII=D) 44,704 110,528 N\65,824
J12Z8I(6EEm) 44,704 110,528 65,824
J123HI(0gIt=m) 44,704 110,528 65,824
201 =3 29,608 66,408 36,800
01 AtR2t2lt] 27,608 64,408 236,800
oget=ZH| 11,200
o2g+d 7,000
(CF=E 9,408
02 S3=gHl 2,000 2,000 0




SN OIEIIED
M HYRAZHI(HEIEL)
S©elr J1=2ZHI(6AII=E) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=EXE FAl2cll 2,000
202 04l 12,096 39,320 N2T,224
01 =LHOHI 12,096 39,320 N2T,224
OJ|2H R0 12,096
203 =4l 3,000 4,800 1,800
MU FA2SHI LI 3,000 4,800 21,800
ORMEIE =T 250,000+ 122 3,000




